HSC 2001 - Mathematics
ﬁ
Band 3/4
ey e

o KL T Question 4
ﬂ) 42y b=0 (a=2\
A=b-Uae <O |P=2 )
- g2 hep S
= 4%- QK <o
— |2k <=t |
kK 7 -4 _18°
0 R
k> 1o
£
LABC=LACR (hot o scale)
oL = e LA x"i M
LCLM=2° : // %{\h
B N T

\) LABC =180 -2x°

Leonb=2 cum =" (bast argles of (soccetes A are equal)

. ZLtm =2x"°

LABC = 72X’

oo LABC = (80 -2x° (co-intzior arwlﬁf are IWQUWML*?@)
=8

PTO—>




= ; ' ; HSC 2001 - Mathematics
Band 3/4
e ——

)

BOARD OF STUDIES

uuuuuuuuuuuuu

L TNL=%"

mw

va/b(&fe/%&

L NmB= x° (wmtm@; oppo site fo L CmL =x-)
LABC= D" 2 LMBN (S [80-2x°

A BNM= X + |80-2x + 80-2x = [80°

~Y4% + 260°= (80"

—Yx = JB° 180°-260°

bo°
=Yy—=—=180
e LMNBE = 4% =¥ @90:+x°/\
yi LANLD = [Aenvay IgR S (B0

et




- ; | ; HSC 2001 - Mathematics
Band 3/4
T ——

BOARD

NEW 3

VE STEDIES WJ; L W%H?TT

uuuuuuuuu

{') 4= Vsindy fov =T €y <

1)

b; Y

i) u= Ly -lie gRoN AL/ LA

e

L{’ 5/‘ X =0 [ x

X=0 Y=0 Y=0 1=0

iﬂj'—'-}c )

(’ﬁf [% Un2x f_ﬂ-ac\ dx

)
€ R ree iy --lwnéi-‘(%L

2

Vi [ 2 al.\ | ..\
('5(05'2( )—-IP’I“(') L7?/(05L{0)"’IVI"|')

P2

= flaw) = (-%5-lny)

= -ln% +%p -lnY

S . P )

orwed




	Quest: 
	 X: Question 4

	Band 3/4: Band 3/4
	subject: HSC 2001 - Mathematics


